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S (=33 If sin o + cosa = tan n/3, then the value
? of (sin3a + cos®q) is equal to:

C Ifq sin o + cosa = tan 1/3 B, T (sindq +
I—I-QSC_—;% cos3q) BT AM T DI |
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If sinf = ,a>b>0, then the value
a+b

cosf@+1 =, 7 ﬁﬂ-—-
of will be:
cosf -1 G"“

2@ Igfe sin9=2@,a>b>0'§,?ﬁ e

a+b cosf -1

a'—\b BT A/ F1d DN |

a
(b) b

() >
a

SSC CHSL 19/04/2021 (Shift- 2




1-
Using the formula tamE i , find

sin x
the value of tan 22.5° 5\—/
1
Kl tanf ST @1 7T PP tan

sinx

:__%1 22.5° wqﬁsnﬂaﬁl

2 J_ V3
'XQ%C% = (b) V2 +1
=4s®
= 3;*/5 ol 2 -1
= R4 @
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sin40

‘The value of is:
/_\ (1- cos40)
< SIn_ &1 am 7@ |
(1- cos40)
MtZ 0 (b) tan @
(c) cotd (d) tan2 @
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The value of sin 18° is given as

Using the value, find the value of cos18°

sin 18° & dM J§4'l$mﬁﬁmm
g | WM &1 YOI B §Y, cos18° HT AN
ST PN |

\w/\/10+2\/§ B J10 -2.5

4

J_+1 ) V6 + 2

4

(c)
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The value of sin 73°+co0s137° is:
sin 73° + cos137° T HF ST PN |
(a) cos 13° (b) sin 18°

(c) cos 18° \)ﬂ-]/s'in 13°
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If cot75°=2- J§ . Find the value of

cotlS®

I cot75° =d.§ g, @ cotl5° &1 A
EIcicad

(b) V3 +1

(d) 2-43
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tan” 0

-2sin06 cosf =?

...l._

cot’9 tan’0
4

cosec’f) sec’H

cosec’d sec’0O

cos ecOsect
(c) sinBcosb

+2sinf cos0H &N 7|

(b) cosec’0sec’ 0
(d) sin0




If cos-sinf=+/3 cos(90°-0), 0°< 0
<90° then find the value of tan6-cot6.
If< cosO-sinf=+3 cos(90°-60), 0°< 6
<90° 8, @l tan6-cot® BT A HIT BN |
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In APQR, ZQ=90°.If tan R = %—,then

what is the value of

P _ﬁ-'b secP(cosR+sinP)

cos ecR(sinR - cos ecP) '

APQR , £Q=90°%I'ﬂﬁtanR= %'3 ar

& 3 K seé(cos R+ sin P)
~ inR - P
P“"Q_"\G’ cos,g;l((s cos ecP)
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If sin (A + B) =1 and cos(A-Bl=?,A

+ B < 90° and A > B, then the value of

5sin’ B+ 4tan’ A -

2sinBcosA

e sin (A +B)= 1 3R cos(A—B]=§'§.

A+B<90°3RA>B¢g d

SSinz-B + 4ta112 A aﬂ_ _F":i_ §|'|ﬁ ﬁ'
2sinBcosA

1
(a) 20 \}M/ZG -
2

(c) 18 (d) 16%
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If tan?A + 2 tan A - 63 = 0 given that 0 <

A < Z what is the value of (2sinA + S cos

2
A)?
Jfe tan2A tan A- 63 0% fegr T 8

|?O<A <—?)Fﬁ (2sinA + S cos A) Pl
19
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If A=10° what is the value of
12 sin 3A + Scos(SA - 5)°

Osin 92A — 4 cos(SA +10)°
Ife A = 10°8, oI
123i1;iA+5cos(5A—5]“ S ST T
9sin " - 4cos(5A +10)°
py a8 oy 28
(9 + 2«/5) (9—2\/5)
Q 62 +5 ) (9'2\5)
df" (9 -242) 62 +5
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=i -—+2sinfcosf
sec“ @ cosecH

\__-——-_\J
2 2
ek bl 9', 0°<0B< 90° is

(tan3 8 cot’é ]

equal to:

3 3
[tan 9+ - ¥ +2sin90059)+

sec’fd cosec’d

2 2
(1+cosec’d + tan 9’, 0°<0 < 90°HT HI1
T 9 P9 F_ER B

‘/(4( sinBcosO

(c) secO

(b) cosecO

(d) cosecOsecO
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0° < 6<90° is eqyal to:

\)b%— sin 0

(d) sin®




1+cosf-sin?0 +sec? 04 cosec0 .
2 - ‘ | | adle
C“}+C sin 6(1 + cos 0) 0+ cotb
- 0< 90°.

S(HC (a) tan6 (b) seco

C C\ 3 (c) cosecO (d) cotb

S +C

SRL St
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The expression
tan® 0 - sec® 0+ 3sec’Otan’ 0

2 2 0“{ 9
tan“ 06+ cot” 0+ 2
<90°, is equal to:
6 6 2 2
tan"0-sec’ 0+ 3sec”Otan”“ 0 T

tan® 0 + cot” 0 + 2
gaIgV o8l 0°< § <90° 2|
(a) sec’0cosec’0  (b) —sec’0cosec’d
(c) cos”0sin” 0 \_(,d’f ~cos’ 0sin’ 0
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The expression
(1-sin0 + cos 0)*(1 - cos 0) sec® O cos ec’d
(sec O - tan 0)(tan 6 + cot 0)

0°< 6 <90°, is equal to

sivm  201-5+C-5¢) = 2" [-S) (14+¢)

(1-sin0 + cos 0)’(1 - cos 0) sec’ 6 cos ec?d
(sec O - tan 0)(tan 6 + cot 0)

BT A9 qd18Y, S8l 0°< § <90° 7|

f-
(a) sin0 )¢ (b) 2cos@ @
C%C 2 S (c) cotb . Y 2tan0 9\
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If

sin’ 0

cos’0-3cos0+2
first quadrant, then the value of

tan® — + sin”® —
2 2

. ..al

is:

tan0+sinbd

=1, Olies in the

. 2 9 .
gfe . =1, 0 U8l 9Ty A
cos’0-3cosH+2
tan? o + sin? o
g, _2 57 {9 87
tan0O+ sin6
2./3 5.3
(a) 57 (b) 7
) 2V3 743
9 54

SSC CGL MAINS 03 Feb 2022



The expression
(1-2sin” 0 cos® 0)(cotO +1)cosH

— - 1, 0°<
(sin” 0 + cos™ 0)(1 + tan 0)cos ech
0 <90° , is equal to:
ISP
2
(1 0cos” 0)(cotb +1)cos b | @1 |

(sin® 9rTos* 0)(1 + tan 0) cos ecH

918U 981 0°< 0< 90° & |

(a) cos®0 d}( sin® 6

(c) sec’ 6 (d) —sec?
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In AABC, right angled at B, if cot C =

ﬁ 3 then ° C(sinC + sin A) -
\ : sin A(sinC - sin A) '

AABCH B TR HHPIIG, I cot C =3 &,

EIT ps‘ﬁ(smC +- smA) T S_FI"EI A
_sparfi(sin C - sin A)
CD’)C=3

§]T§R BRTT? —_—
:? D) 3 AL\

(d) 1
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Simplify.

’ \/—/‘L‘ cos(n + X) cos(—x)
C " sm(n—x)cos(; +x]
—X |

W N
S o 1 cos(n + x) cos(-x)
;[ CosSX | . T
sin(n — X)cos [2 + KJ

(a) sec x (b) tan x

Jp] cosec X © (d) cot x
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If cosO =sin(20) # 0, what is the value

39 = %0’ of A=  AHGAY

L
O= 30 cqs* 0+ sin® 0+ cos® 0 + sin® 0+ sin” 0+ cos? 0 + sin 6 + cos O
g_, e




